LINEAR EQULUATIONS |

Solve Ehe —é‘:”ow{nﬁ ezu«é‘iov\,fl

x +49 =1l
X -3 = 4
3x = |2

*x -5

—

yA

X + ) =%
x -5 =
T = 21
xX =5
> + 4=

x-S=-4

2 = IS

)
/4>
lS‘)
e )
7)

13)

19)
20)

1

2x +§
Ix —2
4x +3
Sx =7
6x +2
T — &
2x — 7
Sx + S

EXeERUSE




L.NQML £ Q vATIONS | ErRERCSE
x +4 = 7) 7= = 21
x = Il-9 x = 2l
=
X = 2
x = 3
X -3 T4
g) x-S
X = 4 +73 3
x = 77 x = §x3
x:ls-
3x = 12 |
x =12 1) X+4 =]
< .
X = | -4
> = 4
x = =3
x =&
z 1) X -5 = -4
x = §x2 X T —4 +5
> =)o x = |
x +| = H) 21:!(
=g-I > = 1
x ¥ >
x = = L
! x= 13
x-§5 =7 2) X .4
e
X = 7+S§ _:C:4_x|o
x = 12 x = 40




LINEAR EQuAaTionS 1

Excras€

3 2x +§ =19 )  Sx -7 =43
2= = 14 —-% S =43 +7

2> = 4 Sx = So

> '—"_'_i' :c'-‘—’_s:_?

2 <

> = 7 > =10
14) Ix -2 = It 7) Lx +2 =20
3Ix =leb+2 Cx =20 -2

32 = I¥ Ex = IR

~ = I x = I¥

K4 ¢

x = 6 x = 3
1{) Adx +3 =23 )8) Voo =5 = 23
Ax = 23-3 Ix T 2845

4> = 2o Tx = 2%

x = 20 < = 2%

4 7

2% = S X T 4




L INEAL EQuATIoNS |

@

Exelcis &

Z2x —7 = ¥
2x = 8+7
2o = 15
o =13

2
> S 7%-

20) Bx +5 =19

BJx = 19 -5

3x = 4

~ = g
=

=43




